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[R6..6.30IR7£ ) TEXET 4 (K=F) Al &5 Al A A (5)

TEET(KF)a—K {TEET (K=F)4E 60k 61i% 625% 63k% 645 65k% 66i% 675 68k 69i%

1250 TEEHET 1 1 5 3 5 1 4 2 1 1
1260 fEF R & 0 0 0 0 0 2 0 1 1 1
1270 FEEHT 5 1 1 2 4 1 1 3 2 1
1280 FRA4HET 2 2 3 0 1 0 1 3 3 5
1290 $RHT 1 0 2 3 0 2 3 1 2 3
1300 & ZEHT 3 4 1 1 4 0 0 1 1 1
1310 K/LHET 2 2 4 1 2 2 1 1 1 3
9999 K HMR X ET 100 94 105 95 108 104 97 104 104 100
1510 KEHD_EET 10 6 3 9 10 7 16 8 7 13
1520 HEAD T HT 4 8 12 7 10 10 4 10 10 17
1530 #EHISTHT 6 6 0 2 4 9 6 2 6 5
1540 K{Z=FH] 7 4 3 7 6 5 17 6 13 9
9999 HEMIFZ X &Y 27 24 18 25 30 31 43 26 36 44
2010 EERHET 2 1 1 4 2 0 0 2 2 0
2020 %= &7EHT 4 4 3 3 3 3 2 0 3 3
2030 B ET 0 1 0 0 0 0 2 0 1 0
2040 LIET—TH 2 2 4 2 2 4 3 4 3 3
2050 JMET=TH 2 1 1 3 1 2 1 1 1 1
2060 Hg i ET 0 0 0 0 2 1 0 0 1 0
2070 FxET—TH 4 2 2 4 5 4 2 2 5 4
2080 FRETZTH 3 1 2 3 1 0 3 3 2 3
2090 T HET 15 13 18 26 15 16 19 33 28 28
2100 dribHT 3 2 2 2 2 7 2 2 2 5
2110 tEHIETET—T B 5 6 1 6 2 2 0 4 2 2
2120 HEHIFRET—T B 2 5 3 1 4 5 5 3 3 7
9999 £ ERXET 42 38 37 54 39 44 39 54 53 56
2510 FAUEHET 22 15 31 34 23 29 23 23 28 22
2520 K EEHT 20 16 15 8 17 20 22 19 14 15
2530 = /INRHET 3 1 6 4 8 4 6 4 8 7
2540 FHiGHT 8 9 8 2 7 4 6 10 3 7
2550 HHET 2 2 2 1 6 3 7 3 7 2
2560 = ST 8 12 11 5 4 18 11 14 15 16
2570 K EHT 2 0 0 2 1 2 0 1 0 2
9999 WS X ET 65 55 73 56 66 80 75 74 75 71
3010 K#THT 9 14 9 13 7 18 8 8 8 20
3020 B+ THT 16 13 12 9 12 9 9 10 10 11
3030 L E7HT 15 7 12 9 7 8 10 14 11 9
3040 S LHET 2 1 1 1 2 3 2 0 4 1
3050 TR HET 12 30 24 31 31 21 26 23 30 35
3060 HES THT 6 7 1 7 8 11 7 6 7 8
3070 tFREHT 4 4 4 5 9 7 5 5 9 6
3080 HHMHT 5 4 1 6 5 3 4 3 3 5
3090 FHHRERET 4 4 8 3 1 4 1 5 2 2
3100 EH I FEHET 11 9 3 6 6 5 4 9 5 4
3110 EJLET 2 6 4 3 10 9 7 4 5 6
9999 /\FIEF X &t 86 99 79 93 98 98 83 87 94 107
3510 2R AT 7 5 2 4 2 4 0 2 2 2
3520 2[R chfT 4 4 4 4 7 6 6 3 2 6
3530 2[R THT 9 11 10 9 21 15 16 16 11 9
3540 ZE R AKHT 6 1 9 5 7 2 5 7 3 4
3550 AEFHT 15 7 13 16 10 19 11 8 14 11
3560 1= FERHT 3 2 7 9 4 2 5 6 6 8
3570 = T FaAT 8 8 8 5 9 10 9 12 12 8
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4060 BEZ % HHET
4070 Jb/RHET
4080 =;T;HMT
4090 Ff ek BT
4100 wgFFNET
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9999 ERIBXEt
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4520 BREE _FEHET
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4580 BREE/\FEHET
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9999 EREERIX 5T
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5540 T EEHT
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9999 =ik X &t
6010 & ET/NER
6020 [ZET
6030 FEET &I
6040 iz FHET
6050 JI|EHATER
6060 JI| EATFE
9999 FEERXET
6510 B & A#HGAET
6520 HE A KILHET
6530 HE= A FTHHET
6540 HEALLTHET
6550 H &R AT 2 NET
6560 HZ=ALEILHET
6570 B = AEFHT
6580 HZAEHET
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6590 H&E AKHET 0 3
6600 B & A HHT 0 0
6610 A& A LFHHET 1 0
6620 HZE A FGHET 0 1
6630 HE A T FGHET 0 2
6640 HER A EithHET 1 0
6650 B &= ASHET 1 0
6660 HZ A AHET 0 0
9999 HEAKRXET 1 1 14 1 1 1 1 1 22 2
7010 = &M O #T 2

7020 — RAHT 10

7030 — R IRHAET 2

7040 — BT KEFHET 2

7050 — B E7 I ET 4

9999 — R &t 1 20 1 1 1 1 1 1

8011 RAHETFEERLY
8012 IR AHTFEERAS
8013 RAHETFAER L
8021 I AHTZRKLY
8022 IR AHTEKA
8023 R AHTIFEK I
8031 IRAHTH ALY
8032 IRAHTHAA
8033 IRAHTH AL
8041 IR AHETELIRLY
8042 Y AHTELIFA
8043 R AHT LR
8044 Yy AHTELIFIZ
8045 R AHTHLIF (T
8050 IR AHTIRA
8060 IR AHTFT A
8070 RAHTEER
8080 IR AHT &k
8090 I AHT HiEE
8100 JAHETH /X
8110 JRAHTJII 5k
8120 IR AHTES
8130 IR AHTH L
8140 IJAETEFET
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9999 AKX EH 20 1 21 22 28 2 33 35 25 36
9010 FTHTAKZEH 4 13 7 4 12 12 14 9
9020 FTHTEFEM 7 7 6 3 9 2 5 5 8
9030 FTHT#H &£ H 19 14 19 12 17 15 10 12 25
9040 FTHETHEIH 20 1 16 20 22 21 18 20 17 15
9999 FTHRXET 50 36 50 52 41 56 47 47 48 57
9110 $RET T HIE 8 9 8 1 4 7 8 7 6 7
9120 $RETH L 1 1 2 2 1 5 4 1 2 6
9130 FFETH B 0 4 1 4 2 4 2 2 2 4
9140 $RET T4t 5 4 8 8 8 4 13 6 8 6
9150 $RHET L§5 4 4 10 7 12 10 5 3 7 4
9160 ZRETEEFT 9 5 8 13 6 8 5 7 13 9
9170 FERTINE 15 9 10 13 11 14 9 9 10 9
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TEET(KF)a—K {TEET (K=F)4E 60k 61i% 625% 63k% 645 65k% 66i% 675 68k 69i%

9180 $EHTEE 9 7 9 6 10 7 10 7 12 15
9190 £ERTZ 0 1 2 2 4 0 2 3 4 7 4
9200 5 HT EFriE 3 1 5 9 2 5 5 7 3 0
9210 SEET=E H 5 3 2 10 8 4 4 8 4 6
9220 FEETHH 8 8 8 7 7 7 7 7 11 7
9230 SEHET B M 12 7 12 8 11 13 10 8 10 8
9240 $EHTIE R 4 9 4 5 4 6 6 3 7 5
9250 SRETILHTib 11 11 4 6 4 4 13 9 9 7
9999 FHFERXEH 95 84 93 103 90 100 104 88 111 97
9310 HZHTAR 2 8 5 4 4 3 4 3 4 6
9320 H[ZHATAL 2 3 5 4 6 4 7 3 7 4
9330 E[FZHT/INE 3 0 2 3 5 4 2 4 5 6
9340 EIZHTE 4 5 6 6 6 8 4 7 10 10
9999 RFHRXET 11 16 18 17 21 19 17 17 26 26
9410 RET T & 1 7 6 6 4 7 8 9 5 3
9420 RHETHHE 3 1 6 5 3 1 3 4 3 5
9430 RETEXR 1 2 3 4 2 0 3 4 2 3
9440 RETAEF 0 2 0 0 0 0 1 1 1 1
9450 SRETHER 0 0 1 0 0 0 0 0 2 0
9460 RET{ZHE 0 0 1 2 0 0 2 1 0 1
9470 RETEXR 0 1 0 0 0 0 0 0 0 1
9480 SRETHEAR 2 2 1 0 1 1 0 1 0 0
9999 RIXXEH 7 15 18 17 10 9 17 20 13 14

99999 & &t 763 708 800 797 837 845 810 830 888 929
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80 NI HT
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110 $¥;THT
120 ¥ TAHET
130 +EFHT
140 HEi[E @7
150 48 5 #HET
9999 XXX 5t
510 AETEUT B
520 HEEEHET
530 /\IEHT
540 1EEHT
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560 = ZHT
570 EEHT
580 HrhHHET
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600 ZE7ET
610 ;EHET
630 $TERT T H
9999 /\ KXt 33
1010 E 5 HT
1020 L A HT
1030 e HET
1040 75 FHET
1050 & HHET
1060 F _EHET
1070 t7[RHET
1080 & HHET
1090 HiEHRT
1100 - BiERT
1110 f21EMT
1120 $g1EJTHT
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TEET(KF)a—K ITEET(KF)EL 70k 718 725 73k% 74 75k 76ik% 775 78k 79i%

1250 TEEET 2 2 3 1 1 1 3 0 0 2
1260 fEF R & 1 0 1 0 1 1 0 0 1 1
1270 FEEHT 0 3 2 2 1 1 1 2 2 3
1280 FRA4HET 1 2 2 5 2 4 2 3 0 1
1290 $RHT 0 2 3 0 0 1 6 4 1 2
1300 & ZEHT 2 1 2 2 1 1 3 0 2 0
1310 K/LHET 0 1 0 1 0 0 1 1 1 2
9999 K HMR X ET 88 100 69 101 109 122 100 77 46 69
1510 KEHD_EET 15 8 3 12 12 9 13 5 3 5
1520 HEAD T HT 10 9 9 14 11 13 14 13 4 3
1530 #EHISTHT 3 2 4 4 2 6 7 4 5 4
1540 K{Z=FH] 9 9 5 6 4 10 8 8 5 5
9999 HEHIHR X &t 37 28 21 36 29 38 42 30 17 17
2010 EERHET 1 4 0 1 1 4 4 5 2 3
2020 %= &7EHT 4 0 4 5 1 1 5 1 0 0
2030 B ET 0 0 0 1 1 4 1 0 0 0
2040 LIET—TH 1 0 1 8 3 4 2 5 0 4
2050 JMET=TH 5 3 2 4 2 2 3 8 1 3
2060 HgHEHET 1 1 1 2 1 2 0 2 1 1
2070 FxET—TH 3 4 2 2 6 5 2 5 3 1
2080 FRETZTH 3 4 2 4 3 1 1 6 0 0
2090 T HET 25 26 24 25 28 27 34 20 10 16
2100 dribHT 4 3 6 1 6 3 1 3 2 0
2110 tEHIETET—T B 4 7 5 4 2 4 3 5 3 1
2120 HEHIFRET—T B 7 6 4 4 3 4 5 3 0 1
9999 £ ERXET 58 58 51 61 57 61 61 63 22 30
2510 FAUEHET 19 22 30 27 24 36 26 19 8 14
2520 K EEHT 20 13 13 20 15 21 21 10 6 10
2530 = /INRHET 5 6 10 6 5 3 8 2 1 1
2540 FHiGHT 6 11 7 4 11 7 10 11 3 1
2550 HHET 3 2 8 4 1 4 4 1 3 1
2560 = ST 9 6 16 14 16 20 17 14 8 6
2570 K EHT 0 2 0 3 3 2 1 3 1 0
9999 WS X ET 62 62 84 78 75 93 87 60 30 33
3010 KATHT 13 7 21 12 14 12 15 12 8 18
3020 B+ THT 14 9 17 16 8 20 17 8 8 10
3030 L E7HT 14 7 10 4 11 10 6 10 1 8
3040 S LHET 2 3 5 0 2 3 0 1 1 1
3050 TR HET 24 23 16 22 37 26 28 24 7 14
3060 HES THT 5 10 9 3 9 6 6 8 2 7
3070 HEAEET 4 9 11 9 7 7 5 4 2 2
3080 HHMHT 3 4 2 5 8 6 3 4 3 1
3090 FHHRERET 3 3 8 7 5 2 3 1 3 3
3100 EH I FEHET 8 6 5 11 5 7 5 4 4 3
3110 HeALET 6 3 7 8 7 9 14 6 1 4
9999 /\FIEF X &t 96 84 111 97 113 108 102 82 40 71
3510 2R _LHT 5 7 1 6 3 5 3 3 0 0
3520 2[R chfT 5 5 2 7 11 7 10 4 4 3
3530 2 H THT 16 12 22 12 15 15 12 8 10 8
3540 ZE R AKHT 3 6 5 4 10 6 10 5 5 4
3550 A EFHT 12 14 6 15 11 21 11 10 7 8
3560 1= FERHT 7 6 2 6 3 5 5 3 3 1
3570 = T FaAT 12 16 13 15 9 13 21 14 6 9
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5010 R FN B HEET
5020 RZF0EREAET
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TEET(KF)a—K ITEET(KF)EL 70k 718 725 73k% 74 75k 76ik% 775 78k 79i%

6590 H&E AKHET 1 0 0 0 0 0 0 0
6600 HZEAHHT 3 1 0 2 0 0 2 2
6610 A& A LFHHET 4 1 0 0 1 3 0 1
6620 HZE A FGHET 1 0 0 1 1 0 1 1
6630 HZE A T FGHET 2 3 1 1 0 2 1 6
6640 HER A EithHET 0 1 1 1 0 2 0 1
6650 HZ=ASHET 0 0 0 0 0 0 0 0
6660 HZ A AHET 1 1 2 2 1 0 2 1
9999 HEAKRXET 31 28 3 29 32 22 23 22 22
7010 Z RMOET 3 1 7 10

7020 — RAHT 8 11 4 3

7030 — R IRHAET 4 3 1 2

7040 — BT KEFHT 5 9 6 6

7050 — B E7 I ET 4 1 4 2

9999 — R Xt 24 25 1 1 1 22 23 1 1

8011 RAHETFEERLY
8012 IR AHTFEERAS
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